NOTE e HINWEIS e Remarques ® NOTA e &5 o 7% o &if:
1. All product specifications are subject to change based on the actual product description. We reserve the right
to change or modify any product specification(s) without notice.

Wir behalten uns das Recht vor, die Produktspezifikation zu dndern. Jede Anderung der
Produktspezifikation kann ohne vorherige Ankiindigung vorgenommen werden.

Toute caractéristique du produit est sujette a étre modifiée par rapport a la description actuelle du produit.
Nous reservons le droit de changer ou modifier toute caractéristique du produit sans en avertir.

Todas las especificaciones del producto estan sujetas a cambio en funcién de la descripcién del producto real.

Nos reservamos el derecho a cambiar o modificar cualquier especificacion del producto sin previo aviso.
BHGHSBEEEOEFEHL. TORFIRBMILEEA,

KRAREREYERRE, ERFBUENALE. MR BRBITED.

KRR ENER RN, FRAEUZALE. NBAE, BRBITEA.

N

ICY DOCK will not be liable for any software, hardware, or data stored within or interfacing with ICY DOCK products
which results in damage or malfunction. ICY DOCK will only be responsible for repairs and services of ICY DOCK
products.

Fiir den Verlust von auf unseren Produkten oder mit Hilfe unserer Produkte gespeicherten Daten oder Schaden durch
jegliche Software oder Hardware die mit unseren Produkten verbunden ist, ist ICY DOCK nicht verantwortlich.ICY DOCK
Gbernimmt nur fiir die Reparatur von und Dienstleistungen fiir ICY DOCK Produkte Verantwortung.

La responsabilité de ICY DOCK ne pourra etre engagée que pour le dysfonctionnement de ses propres produits.

ICY DOCK no asumira ninguna responsabilidad por ningtin software, hardware o dato o almacenado dentro
de los productos ICY DOCK o que interactian con estos que dé lugar dafios o errores. ICY DOCK solamente
se hara responsable de las reparaciones y servicios de los productos ICY DOCK.

AEROEADRY) 1L > THIDRBICHEORKET 2156, KHEABREEET H2EELTEAVET. tORBOEEICH
LT—HIDNEFEEVELA.

MEREERAAEREMERLBERR B, ANFRERRABERZIBETE, EMEMRERIREREN.
MERHERAAREMERLCHEXLEZYE, ARFRUBARSRZRIERE, ERETRERRMRAE.

w

For further questions or concerns about ICY DOCK products, please visit us at http://www.icydock.com’
Fir weitere Fragen im Zusammenhang mit ICY DOCK Produkten besuchen Sie bitte http://www.icydock.de.
Si vous souhaitez obtenir plus d'informations sur nos produits, venez visiter notre site : http://www.icydock fr

Si tiene alguna pregunta o duda acerca de los productos ICY DOCK, visite nos en el sitio web
http://www.icydock.com

BEVEDEDBERIEELDR— L= | http://www.icydock.com N7 2 £ X LT FEELY,
WARHE S EREA, #UD LA B T 4F A - hitp:/www.icydock.com.
WRREAE S PR AW, D _E R ST/ F P 4 - http://www.icydock.com,

ICY DOCIK’

www.icydock.com

MB153SP-B

3in 2 3.5" SATA Hard Drive Backplane Module

Quick Instal

Copyright © 2012 All Rights Reserved ICY DOCK International All Rights Reserved 650178 VER 1.0




Package Contents ® Packungsinhalt ® Contenu ® Contenido Rear Panel Information @ Riickseite ® Description Facade Arriére B. SMEERRBH, BRERMAMEE, BEE SHREmEAmN
ey - SR ° i0 o T/ ARILIZDLNT @ EHRE T B. SHMEEXERT, BEEEMNENE, BER, HHIEmEAEN
del paquete ® ST DT o ELEEIRAT o G315 R ‘ : Lrg%r{lgl%oifl panel trasero ® EE/SAJLIZDLNVT @ EiR:RAER ‘ = =
B 7N

Please do not discard the removed screws,
as it is for HDD/SSD mounting purposes.

HDD
-

)

80mm Cooling Fan

| g |
il
MB153SP-B Device QUIC_k Installation _GUIde H ‘ C. Install the device onto the case. Connect the SATA ports to the motherboard and make sure to connect both 15 Pin power
MB153SP-B Backplane Bedienungsanleitung - ports from the power supply in order to obtain enough power.
. et o || [——= . . . . - X .

Produit Manuel d'utilisation P C. Installieren Sie die MB153SP-B Backplane in Inrem PC-Gehause. Verbinden Sie die SATA-Anschliisse mit Ihrem Motherboard
Base de conexiones Manual de instrucciones \ 3 Pin Fan Connector und stellen Sie sicher, dass beide 15 Pin Stromanschliisse angeschlossen werden um gentigen Strom zu beziehen.
B Ak HpgE ‘ ' N ‘ C. Intégrer I'appareil au boitier d'ordinateur. Brancher les liaisons SATA vers la cartes mere ainsi que les cables d'alimentations de

HR A = v 2 Pin Fan Connector maniére a fournir sufisamment d'énergie.
ERME FREAE X L— HDD 3 R )

AR A = ‘ o i C. Instale el dispositivo en la carcasa. Conecte los puertos SATA a la placa base y asegurese de conectar los dos puertos de

ety IR=1 bt E ‘ ‘ alimentacion de 15 pines de la fuente de alimentacion para obtener suficiente potencia.
C. TIARE T —RITEHE LD, TH —R—RESATAR—hEEERL TGS, £ D&, BEFII5PInEIRy —J LEHEHL TGS,

e S 15 Pin Power Port 7 Pin SATA Port BER7—I LG+ HEBANLETT.
C—1— In Power Pol — n orf
o o )} M] ﬂlﬂ] M] ‘ ‘ C. #4MB153SP-B% S E M i, (L FESATAM ) £ AR b 3 BIBHIE 5248 TR AR ARAUSATA 15 PindRERE R AIIER REN, EAE.

C. #§MB153SP-BREZEIHFEH, FEESATALG O B AR _EFFFIRTEZ24A RIZZHISATA 15 PindEkF=@A AIIER Ba), EfF

) o o L Installation Guide e Installationsanleitung ® Guide d'Installation ® Guia
‘ de instalacion @ H G DA AAFIEIZ DT o RIESEE 0 IRIEL R ‘

M3*6 screws x 8 for device #6-32 flat head screws x 6 for drive tray
M3*6 Schrauben x 8 (fiir Backplane) #6'3_2 Schrauben x 6 (fiir HD_D__CElmer) ‘ A. Press down the ejection button to release tray lever; use lever to extract the hard drive tray. ‘
8 x vis M3*6 pour I'appareil 6x VlIS plates #6-32 pour le olII'OII' A. Auswurftaste nach unten driicken um den Hebel ausklappen zu lassen. Den Hebel nutzen um den HDD-Carrier zu entnehmen.
Tornillos M3*6 x 8 para el dispositivo E%rrglllgogadr?dg?abgéalé)l[?r?igand 6-32x 6 A. Enfoncer le bouton éjecte pour faire sortir le levier; s'en servir pour extraire le tiroir.
M3*6E 4 (81E) #6-32T5vhAYRER RS (68) ‘ A. Presione el botén de ejecucion para liberar la palanca de la bandeja; utilice la palanca para extraer la bandeja del disco duro. ‘

A D FlE. DL > RE =1
STREHIEALE AR (N3O) SRS i (#6-32) PLAERDETEE, PO SR P R e

ATESH, BFEY, MmMEhl

S “ e % (46—
ST T FIRLL (M3%6) N TE IR (#6-32) ‘ ARG, EE, T . ‘

Front Panel Information @ Frontseite ® Description Fagade ® Informacion
del panel frontal ® BiIE /S~ JLIZDUNT © EHRESEER A © EHRKT S 1% FA ‘

(Optional) Cooling fan installation diagram. Fan dimension: 80*80*25mm.
‘ (Optional) Lifterinstallations-Diagramm. Lifter-MaRe 80*80*25mm.

(Facultatif) Installation du ventilateur. Dimensions : 80*80*25mm.

(Opcional) Diagrama de instalacion del ventilador de refrigeracion.
HDD#1 Power (Green) & Access (Amber) Indicator— = Dimensiones del ventilador: 80*80*25mm
_ ) _ ) ) _ (AT aV) BHBOT7EFIAT HHIL. 80x80x25mm 1 XEFIFAL TXZE
B. Dismount and remove the tray support and mount the SATA drive using the drive screws provided. Once complete, re-insert
the drive tray back into the device. G£I18) EBRETEE. ERRTA80%80%25mm
HDD#2 Power (Green) & Access (Amber) Indicator— = . . ’ P
B. Entnehmen Sie den HDD-Carrier und entfernen Sie den Mittelsteg. Schrauben Sie die SATA-Festplatte mit den beigelegten GEIN) MBREREE. KGR 480%80%25mm.
O Schrauben in den Carrier und setzen diesen anschlieRen wieder in das Gerét ein.
= ‘ B. Démonter et enlever le tiroir afin de visser le disque SATA a l'aide des vis fournies. Une fois fait, réinserer le tiroir dans I'appareil. ‘
HDD#3 Power (Green) & Access (Amber) Indicator— = B. Desmonte y extraiga el soporte de la bandeja y monte la unidad SATA utilizando los tornillos suministrados. Una vez completado
O este paso, vuelva a insertar la bandeja de la unidad en el dispositivo.

Drive Ejection Button ‘ B. SATARSATEFIAT 2. LA DI IUEE RS L FSATE &K R BET /A RITHARATLEN ‘




